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Solving & Graphing Linear

Inequalities
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Solving Inequalities

* Solving Inequalities is the
Same as Solving
Equations

* If you MULTIPLY OR
DIVIDE by a NEGATIVE
NUMBER, you MUST FLIP
THE INEQUALITY
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Solving Inequalities
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* Solving Inequalities is the
Same as Solving
Equations

« If you MULTIPLY OR
DIVIDE by a NEGATIVE
NUMBER, you MUST FLIP
THE INEQUALITY
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Unit 5

Sides
ALGEBRA 1

Linear Inequalities with Variables on Both
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Solving Inequalities

= Solving Inequalities is the
Same as Solving
Equations

« If you MULTIPLY OR
DIVIDE by a NEGATIVE
NUMBER, you MUST FLIP
THE INEQUALITY
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Solving Inequalities

* Solving Inequalities is the
Same as Solving
Equations

* If you MULTIPLY OR
DIVIDE by a NEGATIVE
NUMBER, you MUST FLIP
THE INEQUALITY

Solving Inequalities

* If the variables cancel
out, you will be left with
either a true or false

) statement.
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* If TRUE: The solution is
ALL REAL NUMBERS
* If FALSE: NO SOLUTION
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Unit 5

COMPOUND INEQUALITIES
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COMPOUND INEQUALITIES
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Soive the folowing compound inequality
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Absolute Value Inequalities
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Unit 5

Interpreting Inequalities
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Kevin is biaking bresd for s famity function, The nitial of the oven is twlle the room
lemperature, Hie knowus thal yeast, 3 ey ingredien, thiy tempssatise range of
90" F 10 95° F. So to lackiale yeast gromth, Kevin decreases The temperalise of the oven by 44° F,
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An insurance company is considering implementing a plan based on mileage. The current plan, Plan A,
charges a flat rate of $299.70 per month. Plan B charges a flat rate of $200.70 per month plus an
additionsal $0.09 per mile driven the previous month. Using the inequality below. find the number of
miles. x. where the cost of Plan B is less than the cost of Flan A. "

@ + $0.09x < $39370

C. The mileage must be greater than 1,100 miiles.
m@dﬁ mileage must be less than 1,100 miles.
——

gg&%a&muﬁm&ﬁg&gggﬂ. Roses sell for $3.50 each and, to
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A The junior ciass would need to sell al most 293 roses. N.m\cxv wowo.a&

B. The junior dass would need fo sell at most 866 roses.
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s going to pour down the drain One battle contains regular

' ner
soda and the other boltle contains diet soda. The amount remaining in the regular soda botlte a
x seconds can be modeled by the axpression 120 - 4 5x. The amount remaining in the diet soda bottle

afier x seconds can be modeled by the expression 240 - 12x

Stephanie has two bottles of liquid that she &

Which graph represents the time when the amount remaining in the diet scda bottte is less than the

amount remaining in the regular soda bottle?
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Marcus planted two trees in his backyard. an oak tree and a pecan tree. The height. in feet. of the oak
tree after x years can be modeled by the expression 4x + 9. The height, in feet, of the pecan tree after
x years can be modeled by the expression 3x + 12,

VWhich graph represents the time when the height of the oak iree is greater than or equal to the height
of the pecan lree?
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